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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

10- That is too ---—

Some vegetarians are not just indifferent to meat; they have a/an —------ --- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an «~—-—eeeee in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise
My niece has a ~----------- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy Kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
The singer's mellifluous voice kept the audience -----aeaeeev for two hours.

1) disputed 2) disregarded 3) frustrated 4) enchanted

His family, relatives, and friends still cling to the hope that Jeff will someday e
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

Logan has been working long hours, but that is no excuse for him to be - to
customers.

1) ingenious 2) intimate 3) discourteous 4) redundant
Although he was found -----eeanuen , he continued to assert that he was innocent and had
been falsely indicted.

1) critical 2) guilty 3) problematic 4) gloomy

The old sailor's skin had become wrinkled and —--—--- -— from years of being out in the
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

The promoters conducted a survey fto study the ---------- -- of the project before investing
their money in it.

1) impression 2) visibility 3) feasibility 4) preparation

an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) —==-eeemmen
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~=---—eemeev
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ---—-- . They found a temporary

enhancement of spatial-reasoning, (14) ----=--meee spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) —=eeeeeeeme the music condition is
only temporary.

11- 1)in 2) for 3)of 4)on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Aequian is an extinct language presumed spoken by the people the Romans
termed Aequi and Aequicoli living in the Alban hills of northeast Latium and the
central Apennines east of them during the early and middle Roman Republic: that is,
approximately from the 5th to the 3rd ¢. BC, when they were defeated by the armies of
Rome and were subsequently Romanized. As the arca was heavily colonized by Latin
speakers from Rome, most of the inscriptions from there are in Latin. Two undated
inscriptions appear to be in a different dialect, termed Aequian by the scholars with the
presumption that in fact they represent the language of the entire pre-Roman tribe. Not
enough text survives to deduce any more than that it belonged to the Italic branch of
the Indo-European language family. Aequian is scantily documented by two
inscriptions. Conway's publication of Italic inscriptions adds a gloss, several place
names and several dozen personal names, but it does not distinguish which of these are
certainly endonyms and which are Latin exonyms in use by the Latin-speaking
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17-

18-

19-

20-

population. It is possible that they would have been the same in both cases. but such a
hypothesis remains unproven. The Inscription of Alba Fucensis a bronze plate
inscribed with ALBSI PATRE. Conway reconstructs the first word as albe(n)si, a dative
case. Baldi translates the text into Latin as A/bano patri, two datives. and into English
as "To the (god named) Alban Father." The second document is the Inscription of
Cliternia (Capradosso) in Petrella Salto, an inscribed stone in a spring dissociated from
context by nature (it rolled down a hill). The text is a notice stating that the road is
private, passage by permission of Titus Umbrenus, son of Gaius, but beasts of burden
are forbidden.

The passage mentions that —--—-eeeeeee-

1) glosses are usually about place names and personal names
2) ALBSI PATRE means "To the (god named) Alban Father"
3) Romans living in the Alban hills speak in Aequian today

4) undated inscriptions are often developed in regional dialect
It is stated in the passage that Aequi and Aequlcoh mmmmmm .
1) were defeated by the armies of Rome in the 3™ ¢. BC

2) appeared on a gold plate inscription in Petrella balto

3) speak in a major dialect of the Indo-European languages

4) lived on the central and eastern Apennines mountains

The *second document’ in the passage (underlined) -—---ececeeeeee,

1) is about strong beasts of burden 2) springs from an inscribed stone
3) slowly rolled down a steep hill 4) is a notice about a private road
The word ‘they”’ in the passage (underlined) refers to ~------e-m- ———

1) place names and personal names 2) endonyms and Latin exonyms

3) Latin-speaking population 4) Aequian inscriptions

The word ‘presumption’ in the passage (underlined) is closest to ——--=—=eeeeeev,

1) “exhibition’ 2) *proof’ 3) “belief’ 4) “extinction’
PASSAGE 2:

The Nostoi ("Returns") is a lost epic of ancient Greek literature. It relates the return
home of the Greek heroes after the end of the Trojan War. In current critical editions
only five and a half lines of the poem's original text survive. For its storyline we are
almost entirely dependent on a summary of the Cyclic epics contained in
the Chrestomatheia attributed to an unknown "Proklos" (possibly to be identified with
the 2nd-century-AD grammarian Eutychios Proklos). A few other references also give
indications of the poem's storyline. At the poem’s opening the Greeks are getting
ready to set sail back to Greece: the goddess Athena is wrathful because of the Greeks'
impious behaviour in the sack of Troy: Agamemnon waits behind, to appease
her: Diomedes and Nestor set sail straightaway. and reach home safely: Menelaus sets
sail, but encounters a storm, loses most of his ships, lands in Egypt and is delayed
there for several vears: and Other Greeks, including the prophet Calchas. go by land
to Kolophon, where Calchas dies and is buried. As Agamemnon is getting ready to
sail, Achilles' ghost appears to him and foretells his fate. Agamemnon makes a
sacrifice and sets sail anyway: Neoptolemus, however, is visited by his grandmother.,
the sea-nymph Thetis. who tells him to wait and make further sacrifices to the
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gods. Zeus sends a storm against Agamemnon and those accompanying him at
Athena's request. and the lesser Ajax dies on the Kapherian rocks on the southern end
of Euboia. Neoptolemus follows Thetis' advice and goes home by land: in Thrace he
meets Odysseus at Maroneia, who has travelled there by sea. Neoptolemus arrives
home, though Phoenix dies en route, and there he 1is recognised by his
grandfather Peleus.

It is stated in the passage that e -,
1) Euboia is away from Kapherian rocks
2) Thetis is Neoptolemus™ grandmother
3) Calchas buries Diomedes and Nestor
4) Achilles' ghost go by land to Kolophon

The passage mentions that we are dependent for the storyline of the Nostoi on

1) a few quite unknown references

2) several summaries of the Cyclic epics

3) critical editions the poem's original text

4) possibly the grammarian Eutychios Proklos

The word ‘he’ in the passage (underlined) refers to ----- .
1) *Zeus’ 2) *Odysseus’ 3) *Neoptolemus®  4) “the lesser Ajax’
All of the following about the opening of the Nostoi are correct except that ———--eeeeaeeee,
1) the wrathful Athena is trying to the sack Troy

2) Diomedes and Nestor set sail straightaway

3) the prophet Calchas, goes by land to Kolophon

4) Menelaus sets sail, but encounters a storm

The word ‘appease’ in the passage (underlined) is closest to —--—eeeeeeeeee .
1) *discuss’ 2) *arrest’ 3) “calm’ 4) “disturb’
PASSAGE 3:

Elymian is the extinct language of the ancient Elymian people of western Sicily. Its
characteristics are little known because of the extremely limited and fragmentary
nature of the surviving texts. The origins of Elymian and its relationships with other
languages are unclear. It is widely believed to have been part of the Indo-
European language family, but even that is uncertain. Within the Indo-European
languages. it has been speculated that Elymian was related to either the Italic
languages or the Anatolian languages. Only a handful of Elvmian texts have survived,
dating from between the 6th and 4th Centuries BC. These comprise: a few proper
names recorded by non-Elymian sources: inscriptions in Greek alphabet on several
coins, which include the names of Elymian cities: and inscriptions in Greek alphabet
on about 170 fragments of pottery. These texts have been identified as Elymian, based
on their evidently non-Hellenic characteristics, location and age. The majority of
textual artifacts are very short and fragmentary, comprising only a few letters. A small
number of longer texts apparently contain a personal name and may have been
dedicatory gpigraphs. They sometimes appear to resemble Hellenic dedicatory
epigraphs, in which an anthroponym in genitive form is followed by a verb literally
meaning "l am" in order to convey "belonging". A vase found at Montedoro, around
15 km southwest of Palermo. features one of the few complete inscriptions in Elymian.
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Proposed classifications the Elymian language can be summarized under two main
positions, both of which relate it to Indo-European languages. Some historical
linguists agree that some peculiarities of that language — like non-alphabetic symbols
engraved on some dedicational fragments of pots. and genitive in -a/ found in almost
all the complete sequences — are suggestive of a connection to the Anatolian
languages. and in particular, to Hittite.

The passage mentions that one of the few complete inscriptions in Elymian are

1) spread in eastern and western Sicily 2) recorded on 170 pottery fragments
3) found on a vase at Montedoro 4) in ancient Italic languages
It is stated in the passage that Elymian -------cceeeeee,

1) is possibly related to the Anatolian languages

2) has clear origins with other languages

3) is the origin of several Indo-European languages

4) survives is a large number of texts

We may understand from the passage that ——--—-eeeeeeee,
1) fragmentary artifacts are “textual’

2) Anatolian is a sequential language

3) pot fragments are all in genitive -ai

4) Hittite has non-alphabetic symbols

The ‘Elymian texts’ the passage refers to (underlined -----eeceeeee-- .
1) often appear as non-Hellenic dedicatory epigraphs
2) were usually seen as inscriptions on Greek coins

3) are recorded as Elymian and non-Elymian sources
4) have non-Hellenic characteristics, location and age

The ‘epigraphs’ in the passage (underlined) appear --------—--—--- of a text.
1) “near the end’ 2) “at the beginning’
3) “in the middle’ 4) “at the end’
B ol s s U

foawl bl Glpl o plas jleuile b o liwl ow)ld slaailyi jo «olin xSAyaliya o3ly -Y)

fadload it Jlwlw soles b g b a0 Jy Wledg SIS sedis L) 4 el jo JUT plas ¥y

Oy Mok - Sl o ys (Y S gl 3 - el g s ()

Olry B8l - elal> 1500 (F S ygml S g0 - ol slagbs o (Y
fCmwliwgl 00,3 3l J32 (v plas —TY

S csola (F Sl (7 Lu Syl (Y la o, 8 30 ()
43y P gy Jovaadi b gl (551155 8,50 30 j9ld &S plas 0 -YF

Ll 2l (F ey i (F ey s (Y Gl S5 ()

filetab.ir



Y axio 806A (1142) a5 = ol giliwl g3

foww! aalad uilo 1y plplas
ol as; a8 (F LyLs (v Lblas s (Y oij il ()

Yol (23 ) Wil plas b @O sty

33mt &% S (¥ ool 8 &,9,51 O

olaz 5 i (F Clalszeygl 258 oy (F

T i 39 90 Liwgl 00 )3 e gome ;0 Gl plas Wi

ks o)l (F Cads asg (Y Cuds o3, (Y ot plags ()
fowl ol plas suile3b ls oL

ol (F =5 (Y S (Y b ()
fllonds aidsl slapl) a2 @ (g 4 (lo 20 99

kb 5 25 (F S 5 (T 5 g 51 (Y ! 5 55T ()
] 00 05 By 3390 plaS (Liwly Sl 5! 53

oy ples (F Jaese (F ad (Y saz ()
Clwl il oo 9 Wl )8 35 Wy plas

-tha (f -i8n (v -0omand (¥ -ig (V

§ sl 0ol o gl 1 s Jad 058 dileo 1) A3LSI G o plas

abar (f pad (¥ ray (¥ az (\

faml ! Wl anls plas’

ot (F JaiS (Y S (¥ e ()
s Camw 33 (o gl Jas 5L ,0 4l 35 plas

S5 o LD o 4 S (Y ez oo o8 4 G By ()

o (3925 8 5T (ol Jas o (slie (F ol 0 gl Hlolube slej ,8 (¥
flal (b plas ;0 pb & Gl 5ib

s (F ! 51 (¥ $ssl ()

Tl 009 (31 plaS € galedr I sl Jledeol 830 Culy) by

Al ysle @350 S5 (Y Obje poye (b5 ()

WSS e Gl 39 Gl o lals a5 SLp (F laiBls 15 0 LA L a5 Sl g plauge oL (Y
! Jladl 1 aiws plaS b @ollae «un! 03l pb € 5 g0l Jladh 1) o] cwlidiSon QLS )5 )les azuf
&)l el Lobe (F e Lol (Y dny oobe (Y s 2l ()
Yl Sy €aile Jl b 2Massl 3590 0 4 3F plas

sl (Vs o 8 45 Loy e il sadiailigl G5 (ol 0 45 dgme AT ()

! Cews o ale Sl slal; ,Lﬂ ssirala alicall SLL 2w )90 ool Ll sl Jle s (Y
aslasly ool 2y sl g B o 2Mllao! ol (F

sl by lensle p bl 2ay #Mhaol ool (F

-Yo

-Ys

Yy

-YA

¥4

_f.

-F)

-FY

-FY

-F¥

~-¥b

-FF

¥V

~FA

filetab.ir



A axio 806A M=) a5 = ! Sl slab)

il w3 (Ll 890 )0 (Sl pl GAGLS condg 3590 50 4 35 plus

wlanslos seg Lol 5590 30 SIS galss ¢ gamw slalj ()

s sl 8580 55 ol g9 pas py Lds Lol 5l (S 5l i g e Gl ey (Y

lodgs sl 355 ;5 35250 Slapl; L ole 5 S v aliugl g Gl ou)l8 L5 ez (7

s g3le g (oS bl Ll (o)l L5 Sl I antie dilis 550 )0 sudaislid slapl; (oaled (F
Panal gituialiid oLS o105 4 Blaze € ly S

aald) (F L)z (7 Jol el (Y Js' 20 00

ol ﬁ_\,i Cawddy glanss icwolas oll plus 3

aals)l (F ae )bl (¥ ey (¥ Js' 20 00

ol plas € poiaSy bowy (I U (Gl (pla y b yor Ojlee Jud 4oy

s (F e (Y S b (Y syl (A

€000 3,9 4l L aloa plas )0 €50 (590 i

Sl5 9 WF 5 g T 131 090 Jol b ez e (F g &ls LGl sje ol s ()
Sl ,,.4,_3-\3(?' .pa;c..a.,.,c._.:o&l:g.u e (Y

o080 3,8 Ol &ty L o jls plas jo Jad Bi>

|y Gl don aSilizvon S Jased 1, Lo ()

g e ol ) plaal 4SSl 5l s (e e ol (Y
Byl glas 4 iiies a5 @ ol a5 (Y

selei aul g Jjl sols (F

s plla Sn 58 e

o5 allas (¥ &bl 5 slasg sle (N

AN els e dama (F O ESRVCY | ¢

ol (30 oyl o i oF pluS a5 by o coawbr Jd Jolro wsh g« iy

9> (F & pbis (F &' &3 Q)
Sl (Slls slagly 5o Jad b law jo sladlgio 32 550 plus

3gei (F <J (7 axg (¥ e ()
sl oo andigh HIs5lg b oLl ooyl las )8 (el plus

Slawl (F 3y (¥ g (Y ol ()

10,10 (i 4> 5 ddas 3 € ol damo? ol 09,5
€diduol oo cpul Do 1) gl 20 po»

Jad 0 (F Jonia (¥ Sanad (X Ju ()
Tl € or (lme ) 3 SIS e plred Ao 53
s5ene (F 23S (Y Saps (Y 2h S ()

¥4

-oy

-oFf

-0

~OF

-bv

L)

-04

—$e

filetab.ir



% amio 806A (1142) a5 = ol giliwl g3

.’“.ww‘_) b j <loddo

Yol 0)ly 2 lxe gy Jool> 4 35 plas

Pl gl e (F sglo— jLai (¥
(s (o5 glapl; 5 sline

VK 6:.;_13 slaculs slass a5 G_{lbé'.qj \

Ay 6 slaligas slas a5 oo L (Y

Sl atiia g ol biuguas CoaS gl o] o a5 Slasl; (Y
Yl guaig da « pnl puo 3319 50 «—l—»

flwwl @obo 9,8 1 a8 (il 5,L 48 4 35 plus

el Cad K 8 5l a8 a3 5l (sl b Jobas slaai ()
el 80D Sy jhe 0 oLl O jgoas 38 0 b I8l (Y
! 03l 315 a4 Jogy o Sledbl 318 a3 18%lg (¥

sl paiin 3,8 a3 85y oluas (F

P! ouds oolaiuw! « g 3Lwoliafn a3 1 odly plas Coluw o

z-»(f aLa (v Sl (Y 13 ()
Yol aidy W Cawsojlg wojlg plas 4o

LS (F ol (V oty (Y Glass ()
sl Jaanns (51059 dos 35 S

3,315 (F U okeb (Y i ()
0,18 Blad by aibo @ 03 plas

Pl ol (F ol slaajls (F ol Jad (¥ R s ()
fABl aillad 0 )5 (s (L5 50 €aSUr 3313 45 39 c0 Sasl Wiy (S Ll) 33 (Fodgume 4z
sl (F b (F re (¥ 92 ()
flml 423 )4 £ 5Lae (o ojlg plus 53

Slaels (F Sloaal> (Y olases (¥ Ol et ()
RSP R Wy RO FUE R G Ep 1 L K Y

# (f o (Y ¥ (Y YO

Tl plas €59 3 (g jaas? 05l (2 lxb (Lo L

CVCC.CVCC.CV (v CVCV.CVCVC
CVC.CV.CV.CVC (¢ CV.CV.CV.CVCC (r

Yol jU sl 503510 30 o5lg plas

Cows (F s (¥ S (Y s (

-#\

~#Y

-FY

~#0

~F¥

-FY

~FA

-#4

V.

-¥

Al

vy

filetab.ir



Vo axio 806A (1142) a5 = ol giliwl g3

Tl €lad gudin (agio plas

Lol G (F Jas (Y o A8 jaed (¥ sl ()
13940 00 ool 42 03ly (5 iyl O 90 (S oAl o

e (F Jalas (¥ Js (v ed¥s ()
] € Gradgh (ALl plas

S Lo b o Se dal, (¥ CE5tan 53080 B 3a.5 ¢l ()

ol &las oo (F 3,0 whe! &ilis 21 (Y

Cmmnnr Casleo 7 5500 1 gl

Do g L (Y a3 )Ty O

aule gt (F Sy oSl (7

Foawl € S5 5l Aiunlg 519500 5590 plas’

pidpgs 55 KaiSR (Y wlS 53 «p> ()

S0 ECs ,» (f wla b o «b» (Y

13,10 yguaz yhoo jlgf5 aloor plus’ 5o

IPUICI SRPSWINURR CL3~ L WIRW it 3 u.:l.nl,] ol 5l o (Y
Deb oo oline pled el b ylean 225 )0 WS (Y
S Lyl by 0 godaie gla i Wil ce 4S5 (Y

Al gy B leas g Bet oy Lad o (F

3,10 Sglas duibs U 19T plas udgi 89

3] ¢f [s] e [f] v [L] o
failalas’ &M slacwle

(0] [§] «f l6] [q] ¢ ] [e] ¢ [g] [k] O
sl ()10 b 5 0 glacalo Jold 4ty 35 plas

«» 5« o (F «op g «a» (¥ € g €« (¥ «z» 5 «z» (
fou! ol yoi Wyl U 55 L Igf plus udgs

[e] «f [h] ¢ [k] ¢ [pl O

(S g0 (B o 3wl o153 b b gl plas” wdgi )0

[d3] «f [¥] ¢ [g] ¥ [s] O
Camd oo LS 1y ds (punny A5T1g 4y 35 ploas’

] (F [u] ¢ [i] v [a] O
fowl S Zls oyl 4 35 plus

Sl (5 peie Sl (Y Slyg = Gpie ol ()

STy o (g pmho il il (F Sly o= S phoyet  ule (7

Tl oy (o) (15 50 (ol (55! plas

CVCCC ¥ CVCC (v CVC (v CV @

-V¥

-Yo

-Y#

-Yv

-YA

-va

-A)

~-AY

~-AY

-A¥

~Ab

~-A¥

~AY

filetab.ir



1) axio 806A (1142) a5 = ol giliwl g3

T390 0uaoll 4 0518 S5 30 00 slalrd & i bad § Sy -AA

oy (F RSV aSs (Y S ()
3,10 ol 4z 09 o0 Lire pndil y yoni0 &5 Lxd S0 (59 22 (o2 9 225 Ol -MA

ey (F oS (V" S5 (Y Saal ()
fowwl add, @ Cuw ol iaos plas jo -4

w8 e (g9, |5 Lol (Y el ke ()

S Ky Syole bl e sl (F W yala | 393 5345 4 ol (T
sl 1l s ot Ko o3 g s )
fakolas e Lk (b (B0 5 Sivie wdy SIS i 4y &S (Sl Hle )

Slais - ailala - (55~ gt (Y Oyt — ailiaRa - ojlg,0 ao - S5 ()

k- 5y - S)l- ejlyys wa (F O = ($ = Qlaald - lwss (¥
o1 (59 (pamolied oLl plas (Lo 50 T Cules b o)l olsged y9 -AY

py ol (F P> gyl (¥ P> yd ) (¥ Jgt o) ()
Sl el Ly plS )0 330 (3 181 55 QY

VWL Y (F VA LBYE (Y YP LYY (Y YY LG vo(\
10,105 o0 93155 30 1) G50 10 419y wolualj ol jod s g Cl Clas 31 goled Wl plas” -AF

S (f ey sl (Y e ()
el Ll 50 31 )31 gla SIob g Sljlxa 31 )15 3 50 o> 4 Hauw 390 30 sales he oS -0

3,5 Sea (Y sl Jlﬁ,b)l(\

p sty sloons ;8 (F iy Sl axsis (¥
T 0ol oyl syt )l 5T (yled b oS 3T 25T o LS ol plas yl599 50 —4F

g5 (F alas (¥ ooslsS (Y it ()
fCmay S| pubolasl JO b duw )3 (5l ps AV

L3 g lags lon o S 53,5 35B (Y 353 pllas 4 s g e al 225 ()

S gl o g8 5l o ya (F 3,550,8 6b o e yo Lol asss (g lagSs (Y
!l € ol el 805109 Lo @ o5lg plas -AA

iy (F wlgys (7 ) (¥ bl ()
LS (5591855 1) (95UsS pale (g U 05 (loyd ol plus 13,5003 p)le LS wluly 44

sk (F gy (V ook (Y Joi3 )l (A
f i o 0301 plaS —Yee

als > (F 315l (¥ bl (Y e ()
At s & Wiglos 095 1 | LT lond amasidd oIS’ ity paboluol by —1e)

il 5 (F agls (Y O (Y o> ()

filetab.ir



)Y axio 806A (1149) a5 = ol il L3

900 datd Sl GbY 53 (Fgle ST 4982 (Il publul ply

4ty &) ogen 51 (Y e 9 pso 5l ()

s g P30 g Sy o8 02 51 (F Sehes pad g maad ol Ay 5 1 (T

flaml om0 (3) 929 (5T 8,159 oyl plaS (gasd slde jghanl Hly

P25 a iS5 SRR L, ()

wlos S s gl gyl o8 9 8 31 o (Y

S0 (5 gy aalr o)lgen g AS ga luga ) g0 saen (¥

S o el 0 1) gl @iga ) g Cudl ol dusy Sle Jog i I (F

Cailouuanis o olsie plaf b3 o Sluli (ylo) Gl Colowandi 13 o0y y9m0 9 o) lils wiile €aleg» slagluils

ol (F ol Ry (F o (Y RS
COLS o« B33 )3T Gluls I8 59 0uSLST AIAS &) 1 5O humme a1yl

el sasas] (¥ s 0uS35T ()

Sl j0 (5955 sasas] (f g 005251 (Y

i AiS gl yloyd s 45 (idgs oLl plaS Pl ylyl55 51 51 a3 9 oLilS o

psd 3l (F p3d 3535 (¥ Jsl 3,535 (¥ Rsnsr> ()
£35Sy | Libg yalS 9 0l CanSl |) €S g 0 5 €T glin glapl b GLGsS (lald 5l (5 90 (S an
o=z el (F s e (¥ iy (1 $# Sl Slew ()
o adS albls b Kix 53 Jlulw ol plas

s (F p el (7 p3d 3,535 (¥ L3 ()

§ sl 8D il S0 €390 b oo glaculyy jo LS ol plas

eyl (F gl (7 oslsS (Y sbas ()
sl 428 )5 ns a1 iyl g 03ly (g2 (5 0

Caly @IS (Y ozl ol 1

S el ) Sl el asSl (F i g et ) gl 4L (T
CilS o (yed AIAS 1y & y29 )30 Slai ol LRIl s g3 (5 50

yaa (F oy (¥ Jib (¥ sl O

foal 039 0L IS (o )0 idabs GlBASS 53 FIL S3lag G5 2208 (2 55

plez gl (F Jsl szl (¥ 3,1 (Y 4wy ()
3,10 (Flgon Ll oLl plas pli b € 508,00 (o)l )90 1 )95 sy 42aF ply

plez ola 3 (F Py Sl (¥ py~ ok (¥ pgs 3 ()
€05 gui g0 1930198 jgud> )3 Cadagy )3 AT PIAS L 203 )5 (y3ie Bulkae

ogunj 1 (F il yieng (¥ it (¥ ey ()
139)00 0 e 4 @ (o e Mol

4,8 g 03,0 g5 (Y o5 L0 (0

Slule )90 (5,8 (F Cealls 5 490 el 890 (T

-\-Y

_‘.r

~\+¥

AN

“\eF

~\v

~1+A

1.4

-“‘

-m

-y

-1y

-\\¥

-11o

filetab.ir



Y axio 806A M=) a5 = ! Sl slab)

€310 Juad Uy 03,5 YF g5 glimal ks plas V1P

lacds (F L (7 Lol 03,5 (Y Rpe—
foawl a3 ;a o pl plas gl p €0 9abr A Jlpl sla e jo -NIY

Ll (f Sl el (Y A g (¥ gy ()
Tl € puST 0% 390 plAT ( AD3,5 slayeb j0 -1IA

Cgie (F ass (¥ o2 (¥ o= ()
Tl 51,5 Jlowd 38 cyao) ey i 31 S pIS (ol ! pabols! j0 -1

°5)1 (Y o4 Q\

Frais s e (F 03,8 5 B (T
FABS 6 o ilolas 0L pIAS & 1 € g pouaS o gLy aliai o 1Yo

p3o gy (¥ oS gy (¥ p3d Hpls (¥ S els ()

filetab.ir



VF axio 806A (11+2) o5 = o1l Sl slayl;

filetab.ir



10 axao 806A (11+2) o5 = o1l Sl slayl;

filetab.ir



VF axao 806A M) o5 = olpl Sl slayl)

filetab.ir



